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Bacteria Source Concentration Sensitivity Results

Raw sewage FC = 6.3E6 colonies/100 ml, FC/EC = 1, Discharge =
200gallon/day/residence, Conc_segl = 56923
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Runoff Concentration Sensitivity Results

FC = 16048 mpn/100mL, FC/EC=1, Dispersion Coeff.=0.5, Decay rate=0.5
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FC = 8400, FC/EC=1, Dispersion Coeff.=0.5, Decay rate=0.5
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Dispersion Coefficient Sensitivity Results

FC = 16048, FC/EC=1, Dispersion Coeff.=1, Decay rate=0.5
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Decay Rate Sensitivity Results

FC = 16048, FC/EC=1, Dispersion Coeff.=0.5, Decay rate=0.1
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Sensitivity for BMPs
Point Source

Base

25% Reduction
50% Reduction
75% Reduction

Combination
Base

25% Red. In Both
50% Red. in Both

BMP Sensitivity Results

Mean C
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88.5
59.68

133.43
100.07
66.71

Non-Point Source
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Mean C
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